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Match the correct suffix with the root words.

(@) popular 1. let
(b) sensible 2.ling
(c) book 3. ity
(d) duck 4. ise

(@) (b) (c) (d)
(A4 3 1 2v
B4 3 2 1
<1 2 4 3
(D)3 4 1 2
Choose the correct pair to fill in the correct
articles in the blank
road to success is not
bed of roses. Gandhi
leader par excellence;
greatest and

became

that made Churchill
the most successful wartime leader.

(A) the the the a

(B) a a a the

(C) the a a thev’

(D) the some a the

Choose the correct question tag:

I am a student

(A) amn’t 1?

(B) ain’t 1?7V

(C) are 1?

(D) am I?

Choose the sentence which has no error.
(A) | place great confidence on you

(B) I place great confidence in youv’
(C) I place great confidence of you

(D) I place great confidence with you
Choose the correct pattern for the sentence:
He is a professor with a lot of experience.
(A) SVOA

(B) SVIODO

(C) SVCAV

(D) SVOCA

Find the odd one of the following words.
(A) honourv

(B) Wonderful

(C) brave

(D) excellent

The plural form of ‘alumna’ is

(A) alumnus

(B) alumnaev’

10.

11.

12.

13.

14.

(C) alumnas

(D) alumne

Which of the following sentence is wrong?
(A) Teach me to fish I will live for life time
(B) One never knows what the future will bring
(C) Allthat glitters is not gold.

(D) We has been living in this house since
1995v

Pick out the correct passive form of the verb.
we should help the poor.

(A) Must be helped

(B) Will be helped

(C) Should be helpedv’

(D) Shall be helped

If1 the principal of my school. |
would abolish examinations.

(A) am (B) was

(C) werev’ (D) will be

Fill in the blanks with correct option Lecdem is the

blended form of

(A) Lecture and demon

(B) Lecture and demonstrationv’

(C) Lecturer and demo

(D) Lecturer and demonstration

Choose the correct sentence which has no error

(A) Geetha’s father is a MLA

(B) Geetha’s father is the MLA

(C) Geetha’s father is an MLAY

(D) Geetha’s father is MLA

Select the correct sentence

(A) Cakes are softer than cookiesv’

(B) Cakes are more soft than cookies

(C) Cakes are softer then cookies

(D) Cakes are soft than cookies

Join the sentence given below.Choosing the

correct relative pronoun furnished in brackets:

I know the girl.she is a famous

sportsperson(whom/who)

(A) 1 know the girl whom is a famous
sportsperson

(B) 1 kown the girl who she is a famous
sportsperson

(C) I know the girl who is a famous

sportspersonv’

(D) I know the girl whom she is a famous
sportsperson
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15.

16.

17.

18.

19.

20.

21.

22.

Dancing bird is a compound word formed by
combining

(A) Noun + Gerund

(B) Adjective + Gerund

(C) Gerund + Nounv’

(D) Preposition + Noun

Match the following:

(a) Autumn 1. Faucet
(b) Nappy 2. Fall

(c) Tap 3. Diaper
(d) Pavement 4. Side walk

() (b) (c) (d)
(A)2 3 4 1
B4 2 1 3
2 3 1 4v
(D)2 1 3 4
“My mind has found an adult peace”whose mind
has found peace?
(A) Robert Frost
(B) Kamala Dasv’
(C) Annie Louisa Walker
(D) Elizabeth Barrett Browning
“Be a hero in the strife” - In whose poem this line
comes?
(A) Shakespeare
(B) Walt Whitman
(C) Wordsworth
(D) H.W Longfellowv’
In whose poem the following lines occur :
“It isn’t by size that you win or you fail
Be the best of whatever you are”
(A) Douglas Mallochv’
(B) William wordsworth
(C) Walt Whitman
(D) William Shakespeare
Which of the following lines belongs to “William
Shakespeare” ?
(A) Love alters not with his brief hours and
weeks but bears it out even to the edge of
the doomv’
(B) But O heart ! heart !heart
O the bleeding drops O red !
(C) For I’m off to outer space tomorrow morning
(D) The music in my heart | bore
Long after it was heard no more
Which one of the following poems speaks about
“True Love’?
(A) A psalm of life
(B) Be the Best
(C) Sonnet No: 116v
(D) The Solitary Reaper
‘Kari, the elephant’ was written
by
(A) R.K.Narayan

23.

24.

25.

26.

27.

28.

29.

30.

3L

32.

33.

(B) Dhan Gopal Mukherjiv’
(C) Thakazhi Sivasankaran Pillai
(D) Dr.Neeroja Raghavan
was educated at free
Stratford Grammar School.
(A) Oliver Goldsmith
(B) Mahatma Gandhi
(C) Shakespearev’
(D) Rabindranath Tagore

Here Laika into space.
(A) willgo (B) go
(C) went (D) goesv’

“On the day Sicilian July, with Etna Smoking”.
What type of allusion is used here?

(A) Cultural allusion

(B) Biblical allusion

(C) Geographical allusionv’

(D) Political allusion

Find out the figures of speech in the following
lines:

“Laugh till the game is played”

(A) Simile (B) Metaphorv’
(C) Allusion (D) Oxymoron

Helen Keller speaks about the word
in “The Mystery of Language”.
(A) Book (B) Water
(C) Treev (D) Pencil
Match the following :
(a) Antonio 1. Lady of Belmont
(b) Portia 2. Money Lender
(c) Shylock 3. Antonio’s Friend
(d) Bassanio 4. Merchant of Venice

@ (b) (c) (d)
(A)d 1 3 2
B3 1 2 4
()4 1 2 3v
D)2 3 4 1

In the battle of Sambre Caesar defeated

(A) The Nerviv’ (B) The Romans

(C) Brutus (D) Cassius

A Sonnet is written in a single stanza consisting
of lines.

(A) 12 (B) 14v

(C) 16 (D) 18

The giant knocked down the wall with

(A) a big axev’ (B) spade

(C) crowbar (D) rod

Caesar’s wife forbids him to
go to Senate House.

(A) Calphurniav’ (B) Octavia

(C) Cleopatra (D) Helena

Yaanai Malai appears to have a

shape to viewfrom Madurai.

(A) rectangular (B) spherical

(C) cylindrical (D) pyramidalv’
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34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

The asked Hughie to earn Ten
thousands of his own to Marry Laura.

(A) retired colonelv’ (B) retired Painter

(C) Baron Hausberg (D) Alan Trevor

Hughie wanted to marry

(A) Laura Hausberg (B) Trevor Merton

(C) Baron Hausberg (D) Laura Mertonv’
Whose words are these?

“] too possess a body and mind ,a heart and soul-

just like you”.
(A) Kalpana Chawla (B) Hughie
(C) Gaiav’ (D) Saralabehn

In which year did H.W. Longfellow publish his
first volume of poems?
(A) in1838

(C) in1837

Whose message is this?
“Listen to the sounds of nature..... Take good care
of our fragile planet™.

(A) Abdul Kalam (B) Kalpana Chawlav’
(C) Saralabehn (D) Sunita Williams

The long poem by Shakespeare is

(A) Venus and Adonisv" (B)  Anxiety

(C) After many days (D) The Appeal

Who said this?

“O Woman ! Lovely Woman !

Angels are painted fair to look like you:”

(A) Otway v

(B) Annie Louisa Walker

(C) Elizabeth Barrett Browning

(D)KamalaDas

Who says these words?

“There is tears for his love; joy for his fortune;
honour for his valour;and death for his ambition.”
(A) Shylock (B) Antony

(C) Portia (D) Brutusv’

‘Do you confess the bond?”

who is asked to confiss?
(A) Antonio

(C) Bassanio

(B) in 1839v
(D) in 1836

(B) Shylockv’

(D) Duke
radiation may be one reason why
the house sparrow is disappearing.
(A) X-ray (B) Cosmic rays
(C) Cell phonev’ (D) Ultra violet rays
Who said these words while dying?
“Remember, the struggle to save the forest is not
easy.But we must not give it up.lt must go on”.
(A) Saralabehnv’ (B) Kalpana Chawla
(C) Sunita Williams (D) Abdul Kalam
From which play these lines occur
“The quality of mercy is not strain’d
It droppeth as the gentle rain from heaven
Upon the place beneath”.
(A) Julius Caesar
(B) Antony and Cleopatra

46.

47.

48.

49.

50.

ol

52.

4.

(C) The Merchant of Venicev’

(D) King Lear

Who says these words?

“Brutus is an honourable man”.

(A) Julius Caesar (B) Mark Antonyv’
(C) Cleopatra (D) Calphurnia

In “The Merchant of Venice’ portia disguises
herself as a
(A) judge

(B) money lender

(C) doctor of lawv" (D) clerk
Match the following
column A column B
(a) Kari Nine years old
(b) The boy Weighed forty pounds

(C) The author

(D) Kari’s food
(@) (b) (c) (d)

(A)4 1 3 2

B)y4 2 1 3

<4 3 1 2v

D)4 3 2 1

The rope like thing around my neck was

(A) a snake (B) Kari’s trunkv’

(C) arope (D) a chain

Who said the following line?

“Man is born free but is everywhere in chains”.

(A) Rabindrabath Tagore

(B) Rousseau v

(C) Subash Chandra Bose

(D) Abraham Lincoln

Who said this?

“If non-violence is the law of our being, the future

is with women”.

(A) Bharathiyar (B) Gandhijiv’

(C) Nethaji (D) Nehru

Lakshmibai is the most famous Indian woman to

have defied the British

A) Opposedv B) Accepted

C) Considered D) Joined

Match the synonyms with their meanings

From writer’s village
Five months old

o

a) Coarse 1. Push Roughly in a crowd

b) Invidious 2. Unjust

c) Exodus 3. Rough

d) Jostle 4. Mass movement from one
place

@ (b) (c) (d)
A) 3 2 4 1v
B) 3 2 1 4
C) 2 3 4 1
D) 4 3 2 1
Match the correct Suffix

(a) announce 1. ance
(b) exception 2. ment
(c) wash 3. nal
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95.

56.

of.

58.

59.

b)

c)
d)

60.

(d) clear 4. able
() (b) (c) (d)
A2 3 1 4
B2 3 4 1v
<3 2 4 1
dy4 1 2 3
It heavily since last night.

A) has been rainingv’

B) was raining

C) israining

D) were raining

Pick out the correct active form of the verb.
A poem has been written by Gopi

A) has writtenv’

B) had written

C) would have written

D) would write

Match the sentence with their patterns.

a) They elected him leader 1.SVA
b) He wore his new uniform 2.5VO
c) He was excited 3.5VvC
d) She went to chennai 4.SVvOC

(@) (b) (c) (d)

A1 2 4 3

B) 2 3 1 4

c)3 1 2 4

D)4 2 3 1v

Fill in the blank with correct Homophone.

The police tried to information
from the bootlegger who sells liquor.

A) illicit, elicit

B) illegible, legible

C) elucidate, illicit

D elicit, illicit v/

Match the phrases in column A with their suitable
clauses in column B

Column A Column B

Phrases Clauses

Despite his sickness ~ 1.Kalam became a great
scientist

On seeing the snake  2.the teacher appreciated
me

By working hard
Observing my skill
() (b) (c) (d)
A2 4 3 1
B) 3 4 2 1
C)4 3 1 2v
D)3 2 4 1
Transform the following sentence into comparative
degree.
Wordsworth is one of the greatest English poets.
A) Wordsworth is greater than many other
English poetsv’
B) \ery few English poets are as great as

3.she ran away
4 .he attended school

61.

62.

b)

c)
d)

63.

64.

65.

66.

67.

68.

69.

70.

Wordsworth

C) No other English poets are as great as
Wordsworth

D) Wordsworth is greater than any other English

poet
‘Binary + digit’ the blended form of this word is
A) bidigit B) binarit
C) bitv D) binary digit

Match the following Column A with Column B

Column A Column B

We got interrupted powe

supply,  ? 1.Can she?

Shreya draws well, ? 2.Didn’t we?

Swarna cannot run fast, ?  3.dsn’tit?

The bus is early today ? 4.Doesn’t
She?

@ (b) (c) (d)
A1 3 2 4
B 2 4 1 3V
C)2 4 3 1
D)3 2 4 1
Fill in the blanks with correct article.

Prem is strongest boy in the class.
A) a B) an

C) the D) some

Choose the correct sentence from the given
option.

A) The cat hid upon the door
B) The cat hid on the door
C) The cat hid behind the doorv’
D) The cat hid within the door
Find out the sentence where gerund is used.
A) He agreed to buy a computer
B) To walk is a good exercise
C) Sheis a singer and dancer
D) | enjoy writing stories for childrenv’
‘I haven’t answered your questions,
Py

A) haven’t 1?
C) have 1?v D) has I?
At the Battle of the forces of
Cassius and Brutus are defeated.
A) Rome B) Sambre
C) Philippiv’ D) Waterloo

is one of the Triumvirs.
A) Julius Caesar B) Amelius Lepidusv’
C) Casca D) Brutus
The good is often interred with their bones. So let
it be with Caesar. These are the words of

B) have you?

A) Caesar B) Cassius

C) Brutus D) Antonyv

Act - act in the living present !

What is the figure of speech employed here?
A) Anaphora B) Alliteration
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71.

72.

73.

74.

75.

76.

17.

78.

79.

C) Repetitionv’ D) Apostrophe
“Don’t give up, though pace seems slow”
What is the figure of speech employed here?
A) Assonance B) Allusion

C) Apostrophev’ D) Anaphora

ZIP is an example for

A) Contraction B) Abbreviation
C) Acronymv’ D) Clipped form
What were the source of inspiration to the Wright
Brothers?

A) Animals B) Flowers

C) Birdsv D) Fishes

In whose poem the following lines occur:
“No Nightingale did ever Chaunt

More welcome notes to Weary bands”.

A) Robert Frost

B) John Keats

C) William Wordsworthv’

D) Robert Bridges

Match the poet in Column A with their periods in
Column B

Column A Column B
Poets Period
a) Wordsworth 1. 1819-1892
b) Shakespeare 2. 1770 -1850
c) Walt whitman 3. 1885-1930
d) D.H Lawrence 4. 1564 - 1616

(@) (b) (c) (d)
A 2 4 1 3V
B) 3 4 2 1
C)4 2 3 1
D)3 1 4 2
A 24- hour journey in a UP Road ways bus is not
the most comfortable way to get to Munsiyari. The
Journey of the author was
A) the most uncomfortablev’
B) the most comfortable
C) comfortable
D) more comfortable
Choose the correct answer for the question from
the given paragraph:
For three days our path first takes us upstream
along the Goriganga, and then into the shrouded
Milam Valley where the narrow gorges afford few
views.
Which river is mentioned here?
A) Milam B) Ragash Kund

C) Gorigangavy’ D) Dudh

Mark Antony with his wins the
public over to his side.

A) acting B) honesty

C) Pride D) eloquencev’

Which of the following is a poem by Thomas
Hardy?
A) English Words

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

B) A Noiseless Patient Spider

C) Snake

D) The Man He Killedv’

The painting of a King welcomes you
to the Durbar Hall in Thanjavur.

A) Marathav’ B) Chola
C) Pallava D) Chera
Match the following:
a) petrol 1. Elevator
b) Lorry 2. Apartment
c) Flat 3. Gasoline
d) Lift 4. Truck

a) b) c) d)

A) 3 4 1 2

B) 1 2 3 4

Cc)4 1 2 3

D)3 4 2 1V

Baron Hausberg gave Hughie and Laura a
for 10 thousand pounds.

A) Cash B) Demand Draft
C) Chequev D) Promise

arrival changed the life of Helen
Keller.
A) Kate’s B) mabel’s
C) Anne Sullivan’s D) Mother’s

Anne Sullivan came to teach Helen Keller at the

age of
A) 11 B) 20
C) 21v D) 12

o - there were twelve peach - trees that in the
spring broke out into delicate blossoms of pink and
pearl, and in autumn bore rich fruit”.

The trees gave fruits in season.
A) Summer B) Winter
C) Spring D) Autumnv’

Whose father is ‘Banarsi Dass’?

A) Hellen Keller

B) Dr. SalimAli

C) Kalpana Chawlav’

D) Subash Chandra Bose

What is the theme of the story, “The Mark of
Vishnu™?

A) Patriotism B) Communism
C) Superstitionv” D) Socialism
‘| received love ....That woman died’
This line expresses the love enjoyed by

A) Tagore B) R.K.Narayanan
C) Kamala Dasvy D) Deepa Agarwal
Who is Gaia?

A) Earthv B) Sun

C) Moon D) Star

“Why do you swear by your ancestors, Uncle
Kesavan?”
Here ‘you’ refers to

A) Kuttichovan B) Uncle Kesavanv’
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91

92.

93.

94,

95.

96.

97.

98.

a)
b)

d)

99.

C) Outhakkutty D) Kesavan’s Wife
What are the 3 R’s related to Environmental
awareness?
A) Reduce, Recycle and Reusev’
B) Resourcefulness, Responsibility and Respect
C) Right, Respect and Responsibility
D) Reading, Writing and Arithmetic
We can harvest water to meet the
increasing water demand.
A) Sea B) rainv’
C) river D) lake
Who was the only poet honoured with the title
“Poet Laureate of Michigan”.
A) William Wordsworth
B) Edgar Allen poe
C) Kalil Gibran
D Edgar A. Guestv’
William Wordsworth is the poet of
A) America B) Englandv’
C) Australia D) Japan
Kalpana Chawla was born on
A) 16" of January 2003
B) 21 of July 1969
C) 1st of July 1961v
D) 1% of July 1976

is the main character in “The
Neem Tree”.
A) Malarv B) Vera
C) Masha D Lalitha
Thakazhi Sivasankaran Pillai describes

as an arch diplomat

A) Kauttichovan B) Kuttimappila
C) Outhakkuttyv" D Kesavan Nair
Match the following:

Column A Column B
Walt Whitman 1.Chemmeen
Thakazhi Sivasankara Pillai 2.The Merchant of
venice
william Shakespeare 3.0 Captain My
Captain
Oscar Wilde 4.The Selfish Giant
(@ (b) (c) (d)
A 3 1 4 2
B) 2 1 3 4
C) 31 2 4v
D) 4 2 1 3
Match the following:
Characters Title
a) The Little Boy 1. The Last Leaf
b) Ivan 2. Two Friends

c) Monsieur Sauvage 3. The Lottery Ticket

d) Johnsy 4. The Selfish Giant
(@) (b) (c) (d)

A 4 3 2 1v

B) 4 3 1 2

C) 1 2 3 4
D) 3 4 2 1

100. Match the following:

a)
b)

c)
d)

Poem Poets
Punishment in Kindergarten 1. David Roth
Nine Gold Medals 2. Rabindranath

Tagore

Where the Mind is Without Fear 3. Stephen
Vincent Benet
Flying Wonder 4. Kamala Das
(@) () (c) (d)
A 41 3 2
B) 1 4
C) 4 1

2 3
2 3V
D) 1 2 4 3
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